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SOLUTIONS

1.[4] (a) We can expand the numerator and then simplify to obtain∫
(2x− 1)(x2 + 3)

x2
dx =

∫
2x3 − x2 + 6x− 3
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dx

= 2

∫
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= x2 − x+ 6 ln|x|+ 3

x
+ C.

[3] (b) Using the properties of logarithms, we can write∫
ln(x5)

ln (
√
x)

dx =

∫
5 ln(x)
1
2
ln(x)
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= 10

∫
dx

= 10x+ C.

[3] (c) First observe that

sin(u) cot(u) sec(u) = sin(u) · cos(u)
sin(u)

· 1

cos(u)
= 1.

Thus we simply have ∫
sin(u) cot(u) sec(u) du =

∫
du = u+ C.

[3] (d) Since ∫
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we can write ∫ (x
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[3] (e) Since ∫
x−2 dx =
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+ C,

we obtain ∫
1
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+ C.

[4] (f) Since ∫
sec(x) tan(x) = sec(x) + C,

we have∫
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